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Question Number : 1 Question Id : 86435112852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who among the following were the last rulers of the Delhi Sultanate?

1. The Khiljis

2. The Loddis

3. The Tughlags
4. The Sayyids

Options :

86435142811. 1
86435142812. 2
86435142813.3
86435142814. 4

Question Number : 2 Question Id : 86435112853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The following are the statements related to the conditions of the Indian economy at the time
of independence.

Choose the correct features from the options given below:

A. Agriculture was the predominant sector of India at the time of independence.

B. Industrial sector was the major contributor to Ni during the 1950s.

C. Around 90 percent of the capital goods were imported from abroad at this time.
D. Villages lost their self-sufficiency during the colonial rule.

1. Aand B
2.4 BandC
3.ACand D
4 A B CandD

Options :

86435142815. 1
86435142816. 2
86435142817. 3
86435142818. 4

Question Number : 3 Question Id : 86435112854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following was the main source of tax revenue during the colonial period?

1. Land revenue
2. Income tax
3. Wealth tax
4. Excise duty

Options :



86435142819. 1
86435142820. 2
86435142821.3
86435142822. 4

Question Number : 4 Question Id : 86435112855 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The export of opium to which one of the following countries mostly benefitted the East
India Company?

1. USA

2. China

3. South Africa
4, Australia

Options :

86435142823. 1
86435142824.2
86435142825.3
86435142826. 4

Question Number : 5 Question Id : 86435112856 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who was the Indian ruler who fought against the Dutch in the Battle of Colachel?

1. Marthanda Varma
2. Pazhassi Raja
3. Veluthampi Dalva
4. Dharma Raja

Options :



86435142827. 1
86435142828. 2
86435142829. 3
86435142830. 4

Question Number : 6 Question Id : 86435112857 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements on the Public expenditure of the country during British rule.
Statement |: Defence expenditure of the Government was high during the Second World War.

Statement lI: The lavish lives of British officials and their high remuneration increased the
administrative expenses.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

86435142831. 1
86435142832.2
86435142833.3
86435142834. 4

Question Number : 7 Question Id : 86435112858 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The East India Company Act of 1784, to control the activities of the East India Company was
also known as

1. Regulating Act

2. Charter Act

3. Indian Council Act
4, Pitt's India Act

Options :

86435142835. 1
86435142836.2
86435142837. 3
86435142838. 4

Question Number : 8 Question Id : 86435112859 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Dual system of governance in Bengal was abolished by

1. Robert Clive

2. Warren Hastings
3. Earl Cornwallis
4. William Bentinck

Options :

86435142839. 1
86435142840. 2
86435142841. 3
86435142842. 4

Question Number : 9 Question Id : 86435112860 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



GNP at market price minus depreciation gives

1. GDP at market price
2. NNP at market price
3. GDP at factor cost
4. NNP at factor cost

Options :

86435142843. 1
86435142844.2
86435142845. 3
86435142846. 4

Question Number : 10 Question Id : 86435112861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Arrange the following treaties in chronological order

A. Treaty of Madras

B. Treaty of Salbai

C. Treaty of Seringapatam

D. Treaty of Bassein

Choose the correct answer from the options given below

1.ABCD
2D, ABC
3B, DA C
4 CADE

Options :
86435142847. 1



86435142848. 2
86435142849. 3
86435142850. 4

Question Number : 11 Question Id : 86435112862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements related to the Government of India Act of 1935 are correct?
A. The Act established an All India Federation consisting of provinces and princely states.

B. Princely states accepted and joined the Federation.

C. Dyarchy in the provinces was abolished.

D. Dyarchy was abolished at the Centre.

Choose the correct answer from the options given below

1. A and B only
2. A and D only
3. B and D only
4. A and C only

Options :

86435142851. 1
86435142852. 2
86435142853.3
86435142854. 4

Question Number : 12 Question Id : 86435112863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Who was popularly known as the real architect of the Portuguese empire in India?

1. Tristao da Cunha

2. Francisco de Almeida

3. Alfonso de Albequergue
4, Vasco da Gama

Options :

86435142855. 1
86435142856. 2
86435142857. 3
86435142858. 4

Question Number : 13 Question Id : 86435112864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match List | with List 11

List | List Il
States Plantations
A. Karnataka . Indigo

B. Assam |l. Cotton

C. Bengal 1. Tea

D. Maharashtra IV. Coffee

Choose the correct answer from the options given below:

T.A-I,B-I,C-IV,D-1I
2ZA-IV,B-N,C-1L,D-1l
3A-1LB-IV,C-1II,D -1
4 A-Il,B-LC-NLD-IV

Options :



86435142859. 1
86435142860. 2
86435142861. 3
86435142862. 4

Question Number : 14 Question Id : 86435112865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who was the first Asian member of the House of Commons?

1. R C Dutt

2. Dadabhai Naoroji

3. Sarojini Naidu

4. Maulana Abul Kalam Azad

Options :

86435142863. 1
86435142864. 2
86435142865. 3
86435142866. 4

Question Number : 15 Question Id : 86435112866 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The introduction of railways enabled manufacturers of Britain a greater access to
Indian markets.

Reason R: The railway network was a poor investment avenue for the British.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

86435142867. 1
86435142868. 2
86435142869. 3
86435142870. 4

Question Number : 16 Question Id : 86435112867 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which Committee recommended the formation of the Reserve Bank of India?

1. Royal Commission
2. Narasimha Committee
3. Mansfield Committee
4. Hunter Committee

Options :



86435142871. 1
86435142872. 2
86435142873. 3
86435142874. 4

Question Number : 17 Question Id : 86435112868 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Charter Act, which ended the East India Company's monopoly trade with China is

1. Charter Act of 1793
2. Charter Act of 1813
3. Charter Act of 1833
4. Charter Act of 1853

Options :

86435142875. 1
86435142876.2
86435142877. 3
86435142878. 4

Question Number : 18 Question Id : 86435112869 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List Il
Events Year

A. Arrival of Vasco-Da-Gama . 1530
B. Declaration of Goa as the Portuguese capital |Il. 1605
C. First factory of Dutch in Masulipatnam IIl. 1599
D. Formation of Merchant Adventurers V. 1498

Choose the correct answer from the options given below:

T1.A-1,B-WlI,C-1V,D-1
2A-11,LB-l,C-1,D-IV
3A-IV,B-II,C-1I,D-1
4 A-IV,B-1,C-Il,D-Iil

Options :

86435142879. 1
86435142880. 2
86435142881. 3
86435142882. 4

Question Number : 19 Question Id : 86435112870 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Revolt of 1857 started from

1. Kanpur
2. Lucknow
3. Awadh
4. Meerut

Options :



86435142883. 1
86435142884. 2
86435142885. 3
86435142886. 4

Question Number : 20 Question Id : 86435112871 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who introduced the Portfolio system in the government administration of India?

1. Lord Canning
2. Lord Curzon
3. Lord Lytton
4, Lord Metcalfe

Options :

86435142887. 1
86435142888. 2
86435142889. 3
86435142890. 4

Question Number : 21 Question Id : 86435112872 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements

Statement I: British constructed roads and railways to strengthen their connectivity to the
interior parts of the country.

Statement lIl: Commercialisation of agriculture was intensified with better connectivity via
railways.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :

86435142891. 1
86435142892. 2
86435142893. 3
86435142894. 4

Question Number : 22 Question Id : 86435112873 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following Acts introduced bicameralism in India for the first time?

1. Government of India Act of 1858
2. Indian Council Acts of 1909

3. Government of India Act of 1919
4. Government of India Act of 1935

Options :



86435142895. 1
86435142896. 2
86435142897. 3
86435142898. 4

Question Number : 23 Question Id : 86435112874 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In 1767, a special law was proposed where the Company had to pay tribute to
the British government.

Reason R: Indian revenues could be used to reduce taxation or the public debt of England.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

86435142899. 1
86435142900. 2
86435142901. 3
86435142902. 4

Question Number : 24 Question Id : 86435112875 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



French East India Company was formed in the year

1. 1600
2. 1650
3. 1664
4.1674

Options :

86435142903. 1
86435142904. 2
86435142905. 3
86435142906. 4

Question Number : 25 Question Id : 86435112876 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements

Statement I: The servants of the Company entered into mercantile activities to reap the profits
from a resource-rich country like India.

Statement lI: Their activities started overshadowing the activities of local business enterprises
and groups.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :



86435142907. 1
86435142908. 2
86435142909. 3
86435142910. 4

Question Number : 26 Question Id : 86435112877 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following sector(s) was the major contributor to National Income during the
1900s?

1. Agriculture

2. Industry

3. Trade

4. Other sectors

Options :

86435142911. 1
86435142912.2
86435142913.3
86435142914. 4

Question Number : 27 Question Id : 86435112878 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements

Statement I: In handicraft production, the producers toock more time to produce goods as
they had no complex machines to assist.

Statement lI: They refrained from producing goods in advance and produced only according
to demand.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :

86435142915. 1
86435142916. 2
86435142917. 3
86435142918. 4

Question Number : 28 Question Id : 86435112879 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements

Statement I: Moderates of early Indian nationalism were modest in their goals and were loyal
to the British.

Statement lI: They demanded constitutional reforms and the involvement of Indians in
various services.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :

86435142919. 1
86435142920. 2
86435142921. 3
86435142922. 4

Question Number : 29 Question Id : 86435112880 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The Indian artisans experienced a major setback with the import of machine-
made goods from industrialized Britain.

Reason R: Handicrafts successfully compete with cheap machine-made goods.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

86435142923. 1
86435142924.2
86435142925. 3
86435142926. 4

Question Number : 30 Question Id : 86435112881 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following states was NOT annexed by the British as a part of the Doctrine of
Lapse?

1. Satara
2. Bhagat
3. Jhansi
4, Mysore



Options :

86435142927. 1
86435142928. 2
86435142929. 3
86435142930. 4

Sub-Section Number : 2
Sub-Section Id : 864351686
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 86435112882 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The promoters of Indian railways and the government were much concerned of the passenger

traffic while introducing railways in India.

1. True
2. False

Options :
86435142931. 1
86435142932.2

Sub-Section Number : 3
Sub-Section Id : 864351687
Question Shuffling Allowed : Yes

Question Number : 32 Question Id : 86435112883 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who was the Chairman of the First Law Commission appointed in 18357

1. Macaulay
2. Curzon

3. Dalhousie
4. Hastings



Options :

86435142933. 1
86435142934. 2
86435142935. 3
86435142936. 4

Question Number : 33 Question Id : 86435112884 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match List | with List 11

List | List Il

Family Confederacy
A. Gaekwad . Indore

B. Bhonsle Il. Gwalior

C. Holkar lll. Baroda

D. Scindias V. Nagpur

Choose the correct answer from the options given below:

T1LA-NILE-I,C-IV,.D-l
2ZA-N,B-ILC-1IV,D-1
3A-IL,B-NV.C-1,D-1
4AA-ILB-I1,C-1IL,D-IV

Options :

86435142937. 1

86435142938. 2

86435142939. 3

86435142940. 4

Sub-Section Number : 4
Sub-Section Id : 864351688
Question Shuffling Allowed : Yes



Question Number : 34 Question Id : 86435112885 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The inflow of Brirish capital and enterprise saw a huge upsurge in India after 1857.

1. True
2. False

Options :
86435142941. 1
86435142942. 2

Sub-Section Number : 5
Sub-Section Id : 864351689
Question Shuffling Allowed : Yes

Question Number : 35 Question Id : 86435112886 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements
Statement I: Indian railways had a great impact on the labour market of India.
Statement lI: Railways increased the average transportation costs in terms of money.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :
86435142943. 1



86435142944. 2
86435142945. 3
86435142946. 4

Question Number : 36 Question Id : 86435112887 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct?

A. Capital goods industry contributed to the industrial expansion at the time of independence.
B. Around 90% of India's machines and tools were imported from abroad.

C. Public sector participation was centred around railways, ports and communications.

D. Easy availability of capital encouraged Indian entrepreneurs to establish new industries.
Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3.Cand D only
4. A and B only

Options :

86435142947. 1
86435142948. 2
86435142949. 3
86435142950. 4

Sub-Section Number : 6
Sub-Section Id : 864351690
Question Shuffling Allowed : Yes

Question Number : 37 Question Id : 86435112888 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
By 1946, the share of National Income from the agrarian sector declined and the share of non-

agrarian sectors started to rise.

1. True
2. False

Options :
86435142951. 1
86435142952. 2

Question Number : 38 Question Id : 86435112889 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The bulk of railway equipments was produced in India during 1900s.

1. True
2. False

Options :
86435142953. 1
86435142954. 2

Sub-Section Number : 7
Sub-Section Id : 864351691
Question Shuffling Allowed : Yes

Question Number : 39 Question Id : 86435112890 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following states showed a rise in agriculture’s share during the period from

1911 to 19517

1. Uttar Pradesh
2. Kerala

3. West Bengal
4. Rajasthan

Options :

86435142955. 1
86435142956.2
86435142957. 3
86435142958. 4

Sub-Section Number : 8
Sub-Section Id : 864351692
Yes

Question Shuffling Allowed :

Question Number : 40 Question Id : 86435112891 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The main purpose of plantations was to supply raw materials for the Indian industries at the

time of colonial rule.

1. True
2. False

Options :
86435142959. 1
86435142960. 2

Sub-Section Number : 9
Sub-Section Id : 864351693
Yes

Question Shuffling Allowed :



Question Number : 41 Question Id : 86435112892 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements
Statement I: Exchange banks had no legal restrictions in India.

Statement lI: Exchange banks could easily access the London money market through their
head offices.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

86435142961. 1
86435142962. 2
86435142963. 3
86435142964. 4

Question Number : 42 Question Id : 86435112893 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bombay Stock Exchange was established in which year?

1. 1857
2. 1867
3. 1870
4. 1875



Options :

86435142965. 1
86435142966. 2
86435142967. 3
86435142968. 4

Sub-Section Number : 10
Sub-Section Id : 864351694
Question Shuffling Allowed : Yes

Question Number : 43 Question Id : 86435112894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Foreign capital flow was mainly concentrated on the Indian primary sector during the initial

years of the mercantalist phase.

1. True
2. False
Options :

86435142969. 1
86435142970. 2

Sub-Section Number : 11
Sub-Section Id : 864351695
Question Shuffling Allowed : Yes

Question Number : 44 Question Id : 86435112895 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List I

Indian Princely States Ruler

A. Hyderabad l. Saadat Khan
B. Bengal Il. Asaf Jah |

C. Awadh I1l. Haider Al

D. Mysore IV. Alivardi Khan

Choose the correct answer from the options given below:

T.A-ILB-IV,C-1,D-1
2A-IV,B-1,C-11,D-1
3A-ILB-ILC-1,D-IV
4 A-LB-1II,C-IV,D -1

Options :

86435142971. 1
86435142972. 2
86435142973.3
86435142974. 4

Question Number : 45 Question Id : 86435112896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements

Statement I: The political disintegration soon after the death of Aurangzeb was well utilized
by the East India Company.

Statement lI: After the revolt of 1857, the Company's rule further expanded in India.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :

86435142975. 1
86435142976. 2
86435142977. 3
86435142978. 4

Question Number : 46 Question Id : 86435112897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following political parties came to power in Britain after WWII?

1. Conservative Party
2. Liberal Party

3. Labour Party

4. Republican Party

Options :
86435142979. 1



86435142980. 2
86435142981. 3
86435142982. 4

Question Number : 47 Question Id : 86435112898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The dual system of governance in Bengal was introduced by

1. Robert Clive

2. John Shore

3. Henry Vanisttart
4. John Cartier

Options :

86435142983. 1
86435142984. 2
86435142985. 3
86435142986. 4

Question Number : 48 Question Id : 86435112899 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The first synchronised Census in India was held in the year

1. 1875
2. 1880
3. 1881
4, 1885

Options :

86435142987. 1
86435142988. 2
86435142989. 3
86435142990. 4



Sub-Section Number : 12
Sub-Section Id : 864351696
Question Shuffling Allowed : Yes

Question Number : 49 Question Id : 86435112900 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Proper financing and availability of appropriate equipment enabled Indian planters to promote
jute production in the country.

1. True
2. False

Options :
86435142991. 1
86435142992. 2

Sub-Section Number : 13
Sub-Section Id : 864351697
Question Shuffling Allowed : Yes

Question Number : 50 Question Id : 86435112901 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Poverty and Un-British Rule in India was written by

1. Gopala Krishna Gokhale
2. Dadabhai Naoroji

3. B. G. Tilak

4. M. G. Ranade

Options :

86435142993. 1
86435142994. 2
86435142995. 3



86435142996. 4

Sub-Section Number : 14
Sub-Section Id : 864351698
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 86435112902 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Inter-war period witnessed the rise of many hydroelectric and thermal power units in
India.

1. True
2. False

Options :
86435142997. 1
86435142998. 2

Sub-Section Number : 15
Sub-Section Id : 864351699
Question Shuffling Allowed : Yes

Question Number : 52 Question Id : 86435112903 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Minto Morley Reforms were also known as

1. Indian Councils Act, 1892
2. Indian Councils Act, 1909
3. Government of India Act, 1990
4, Government of India Act, 1935

Options :

86435142999. 1
86435143000. 2
86435143001. 3



86435143002. 4

Question Number : 53 Question Id : 86435112904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements

Statement I: The Indian middle class started preferring machine-made goods over Indian
handicraft goods.

Statement lI: These consumers could get the goods without waiting for them to be
produced

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

86435143003. 1
86435143004. 2
86435143005. 3
86435143006. 4

Question Number : 54 Question Id : 86435112905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Who among the following was NOT an extremist in Indian nationalism?

1. B. G. Tilak

2. Bipin Chandrapal

3. Lala Lajpat Rai

4. Surendranath Banerjee

Options :

86435143007. 1
86435143008. 2
86435143009. 3
86435143010. 4

Question Number : 55 Question Id : 86435112906 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The first hydropower project in Asia, Sivasamudram is situated on the bank of which one of the

following rivers?

1. Krishna
2. Tapt

3. Godavari
4. Kaveri

Options :

86435143011. 1

86435143012. 2

86435143013. 3

86435143014. 4

Sub-Section Number : 16
Sub-Section Id : 864351700
Question Shuffling Allowed : Yes



Question Number : 56 Question Id : 86435112907 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The foreign investment in India was mainly in social service sectors like health and education.

1. True
2. False

Options :
86435143015. 1
86435143016. 2

Sub-Section Number : 17
Sub-Section Id : 864351701
Question Shuffling Allowed : Yes

Question Number : 57 Question Id : 86435112908 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

NI = Population gives

1. Gross Domestic Product
2. Net National Product

3. Gross National Product
4. Per Capita Income

Options :

86435143017. 1
86435143018. 2
86435143019. 3
86435143020. 4

Question Number : 58 Question Id : 86435112909 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The demand for Indian cotton expanded during the American Civil War of 1861
Reason R: Reduction in American cotton in the world market was met by Indian cotton.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435143021. 1
86435143022.2
86435143023. 3
86435143024. 4

Question Number : 59 Question Id : 86435112910 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following banks was the first bank of India, purely managed by Indians?

1. Allahabad Bank

2. Punjab National Bank
3. Bank of India

4. Central Bank of India

Options :
86435143025. 1
86435143026. 2



86435143027. 3
86435143028. 4

Question Number : 60 Question Id : 86435112911 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match List | with List 11

List | List Il
Bank Year of Establishment
A. Bank of Bengal |l. 1843

B. Bank of Madras |Il. 1840
C. Bank of Bombay |I11.1908
D. Bank of Baroda IV.1806

Choose the correct answer from the options given below:

TA-ILB-U,C-1,D-IV
2A-1,B-IV,C-lll,D-1
3A-IV,B-L,C-11,D-1ll
4 A-NLB-IILC-IV,D-I

Options :

86435143029. 1
86435143030. 2
86435143031. 3
86435143032. 4

Question Number : 61 Question Id : 86435112912 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The Reserve Bank of India was established in the year

1. 1925
2. 1930
3. 1935
4.1947

Options :

86435143033. 1
86435143034. 2
86435143035. 3
86435143036. 4

Question Number : 62 Question Id : 86435112913 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements

Statement I: Indian foreign trade continued to be dominated only by the East India Company
till 1857.

Statement lI: The commercial policies of the East India Company were guided by the needs of
British industry since 1813.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :
86435143037. 1



86435143038. 2
86435143039. 3
86435143040. 4

Question Number : 63 Question Id : 86435112914 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The committee appeinted in 1907-08 to study the finance and administration of Indian

railways is the

1. Robertson Committee
2. Mckay Committee

3. Hardington Committee
4. Hailey Committee

Options :

86435143041. 1
86435143042.2
86435143043. 3
86435143044. 4

Question Number : 64 Question Id : 86435112915 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match List | with List 11

List | List 1l
Governor Generals e
Policies
4. John Shore I. Subsidiary Alliance
B. William Bentinck Il. Doctrine of lapse
lll. Non- intervention in the internal affairs of the
C. Wellesley
rulers
D. Dalhousie IV. English Education Act in 1835

Choose the correct answer from the options given below:

TA-ILBE-ILC-1,D-1V
2A-IILB-WV,C-1.D-1l
3A-IILB-1,C-11,D-IV
4 A-1ILB-1,C-IV,D-1

Options :

86435143045. 1
86435143046. 2
86435143047. 3
86435143048. 4

Question Number : 65 Question Id : 86435112916 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements

Statement I: Revenue collected from India was utilized for the betterment of the Indian
economy during the colonial rule.

Statement lI: Revenue from India was used to purchase the goods needed for trade and to
meet the war expenses of Britain.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :

86435143049. 1
86435143050. 2
86435143051. 3
86435143052. 4

Question Number : 66 Question Id : 86435112917 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



hMatch List | with List 11

List | List Il
Battles Year

A. Battle of Madras l. 1764
B. Battle of Plassey Il. 1760
C. Battle of Wandiwash 1l. 1746
D. Battle of Buxar V. 1757

Choose the correct answer from the options given below:

1.A-LB-1II,C-IV,D-1l
2ZA-IILB-IV,C-1I,D - 1|
3A-MB-ILC-I,D-I
4 A-ILB-M,C-1,D-IV

Options :

86435143053. 1
86435143054. 2
86435143055. 3
86435143056. 4

Question Number : 67 Question Id : 86435112918 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who is known as the father of Economic Nationalism in India?

1. R. C. Dutt

2. Raja Ram Mohan Roy
3. Rabindra Nath Tagore
4. Lala Lajpat Rai

Options :



86435143057. 1
86435143058. 2
86435143059. 3
86435143060. 4

Question Number : 68 Question Id : 86435112919 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements

Statement |: Presidency banks marked a steady growth with the expansion of their private
deposits.

Statement lI: Presidency banks were the dealers in the foreign exchange on behalf of the
Government.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :

86435143061. 1
86435143062. 2
86435143063. 3
864351430064. 4

Question Number : 69 Question Id : 86435112920 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements
Statement I: Investments on roads were of low priority, with the advent of railways
Statement lI: Monetary returns from roads were high compared to railways

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :

86435143065. 1
86435143066. 2
86435143067. 3
86435143068. 4

Question Number : 70 Question Id : 86435112921 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The National Income estimates of the country is prepared by:

1. N5S50

2. RBI

3. Ministry of Finance
4, C50

Options :
86435143069. 1
86435143070. 2



86435143071. 3
86435143072. 4

Sub-Section Number : 18
Sub-Section Id : 864351702
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 86435112922 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Crop failure combined with excessive taxation on the peasants intensified the effect of famines

in India during the 18th century.

1. True
2. False

Options :
86435143073. 1
86435143074. 2

Question Number : 72 Question Id : 86435112923 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The co-existence and cooperation of the public and private sectors could be seen in the

electricity generation during the colonial period.

1. True
2. False

Options :

86435143075. 1

86435143076. 2

Sub-Section Number : 19
Sub-Section Id : 864351703
Question Shuffling Allowed : Yes



Question Number : 73 Question Id : 86435112924 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Bengali landlord, who was the pioneer of Indian industrialisation was

1. Virji Vora

2. Jagath Seth

3. Dwaraknath Tagore
4. Krishna Panti

Options :

86435143077. 1
86435143078. 2
86435143079. 3
86435143080. 4

Question Number : 74 Question Id : 86435112925 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Committee, which recommended the consolidation and nationalization of Indian Railways.

1. Rege Committe

2. Whiteley Committee
3. Royal Committee

4. Acworth Committee

Options :

86435143081. 1
86435143082. 2
86435143083. 3
86435143084. 4

Question Number : 75 Question Id : 86435112926 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
‘Prosperous’ British India was the famous work of

1. F. ). Atkinson
2. A. Lipton

3. Findlay Shirras
4. William Digby

Options :

86435143085. 1
86435143086. 2
86435143087. 3
86435143088. 4

Question Number : 76 Question Id : 86435112927 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Suez Canal was opened for navigation in which year?

1. 1869
2. 1870
3.1871
4. 1875

Options :

86435143089. 1
86435143090. 2
86435143091. 3
86435143092. 4

Question Number : 77 Question Id : 86435112928 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The Indian state of Awadh was annexed in the year

1. 1851
2. 1853
3. 1855
4. 1856

Options :

86435143093. 1
86435143094. 2
86435143095. 3
86435143096. 4

Question Number : 78 Question Id : 86435112929 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The first commercial passenger train service in India was started in the year.

1. 1852
2. 1853
3. 1855
4, 1856

Options :

86435143097. 1
86435143098. 2
86435143099. 3
86435143100. 4

Question Number : 79 Question Id : 86435112930 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In the pre-colonial Indian economy, villages were self-sufficient units
Reason R: Farmers kept aside a share of their produce to meet the scarcity of food grains.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

86435143101. 1
86435143102. 2
86435143103. 3
86435143104. 4

Question Number : 80 Question Id : 86435112931 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Britain promoted the large scale production of indigo in India.

Reason R: The profitability of indigo was expanding because of the growing demand for blue
dye in Europe.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

86435143105. 1
86435143106. 2
86435143107. 3
86435143108. 4

Question Number : 81 Question Id : 86435112932 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Arrange the following in a chronological order
A. The Mountbatten Plan

B. The Cripps Mission

C. The Cabinet Mission Plan

D. The Wavell Plan

Choose the correct answer from the options given below

1. B,D,CA
2 ABCD
3.D,CBA
4. CABD

Options :

86435143109. 1
86435143110. 2
86435143111.3
86435143112. 4

Sub-Section Number : 20
Sub-Section Id : 864351704
Yes

Question Shuffling Allowed :

Question Number : 82 Question Id : 86435112933 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The interwar period witnessed a fall in the dependence of British imports and the Europeans

domination in Asian trade started to fall.

1. True
2. False

Options :
86435143113. 1
86435143114. 2

Sub-Section Number : 21
Sub-Section Id : 864351705
Question Shuffling Allowed : Yes

Question Number : 83 Question Id : 86435112934 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who was the English ambassador who visited the Mughal court for trade concessions in 16157

1. William Hawkins
2. Harry Verelst
3. Samuel Flake
4, Thomas Roe

Options :

86435143115. 1
86435143116. 2
86435143117.3
86435143118. 4

Question Number : 84 Question Id : 86435112935 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements

Statement I: The British entrepreneurship encouraged the non- commercial classes to enter
into business ventures to reap profits from Indian resources

Statement lI: Western education and the starting of reform movements encouraged many to
come out from religious superstitions and dogmas.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :

86435143119. 1
86435143120. 2
86435143121.3
86435143122. 4

Question Number : 85 Question Id : 86435112936 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following industrial areas employed a large portion of the workforce during the
1930's?

1. Mysore

2. United Province
3. Hyderabad

4, Berar



Options :

86435143123. 1
86435143124.2
86435143125.3
86435143126. 4

Question Number : 86 Question Id : 86435112937 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements

Statement I: The places connected by railway networks showed less responsiveness to local
productivity shocks

Statement lI: Railways reduced inter-regional price gaps in the country

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement |l is correct

Options :

86435143127. 1
86435143128. 2
86435143129. 3
86435143130. 4

Question Number : 87 Question Id : 86435112938 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The trade and business in India were at their zenith during the pre-colonial
period.

Reason R: Most of the business ventures were agro-based.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435143131. 1
86435143132.2
86435143133.3
86435143134. 4

Question Number : 88 Question Id : 86435112939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following features of the Indian economy at the time of independence are
correct?

A. Crop acreage for food crops was high.

B. Investments in agriculture and irrigation works were limited.

C. Socially oriented organized banking networks were common.

D. Fragmented land holdings.

Choose the correct answer from the options given below above related to the :

1. A and D only
2. B and C only
3. A and C only
4. B and D only

Options :

86435143135. 1
86435143136.2
86435143137.3
86435143138. 4

Question Number : 89 Question Id : 86435112940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who is the author of Arthashastra?

1. Kautilya

2. Ashwaghosh
3. Vishakhdatt
4. Jayadeva

Options :



86435143139. 1
86435143140. 2
86435143141.3
86435143142. 4

Question Number : 90 Question Id : 86435112941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The October Revolution occurred in

1. China
2. Russia
3. Britain
4, USA

Options :

86435143143. 1
86435143144.2
86435143145.3
86435143146. 4

Question Number : 91 Question Id : 86435112942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What was the first Parliamentary Act in relation to the affairs of the East India Company in
India?

1. The Regulating Act

2. Pitt's India Act

3. The Charter Act

4. The Indian Councils Act

Options :
86435143147. 1



86435143148. 2
86435143149. 3
86435143150. 4

Question Number : 92 Question Id : 86435112943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled
as Reason R

Assertion A: Cultivation of coffee was more found in South India.
Reason R: Poor labour supply affected coffee cultivation in India.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

86435143151. 1
86435143152.2
86435143153.3
86435143154. 4

Question Number : 93 Question Id : 86435112944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



GDP- Depreciation + Net earnings from abroad gives

1. National Income

2. Net Domestic Product
3. Gross Domestic Product
4. Gross National Product

Options :

86435143155 1
86435143156. 2
86435143157.3
86435143158. 4

Question Number : 94 Question Id : 86435112945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements

Statement I: The British manufacturers in England, put pressure on their government to
restrict and prohibit the sale of Indian goods in England.

Statement lI: All the European countries encouraged the import of Indian cloth by removing
trade barriers.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :



86435143159. 1
86435143160. 2
86435143161. 3
86435143162. 4

Question Number : 95 Question Id : 86435112946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who was the Governor-General, popularly known as the Akbar of East India Company?

1. Warren Hastings

2. Robert Clive

3. William Bentinck

4. Richard Wellesley

Options :

86435143163. 1
86435143164.2
86435143165. 3
86435143166. 4

Question Number : 96 Question Id : 86435112947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Permanent Settlement was introduced in India in

1. 1790
2. 1791

3. 1792

4. 1793
Options :
86435143167. 1
86435143168. 2



86435143169. 3
86435143170. 4

Question Number : 97 Question Id : 86435112948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who was the Chairman of Mational Income Committee formed in 19497

1. P C Mahalanobis
2 VKRV Rao
3. Dadabhai Naoroji
4. D R Gadgil

Options :

86435143171. 1
86435143172. 2
86435143173.3
86435143174. 4

Sub-Section Number : 22
Sub-Section Id : 864351706
Question Shuffling Allowed : Yes

Question Number : 98 Question Id : 86435112949 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Under NIJ cultivation, the indigo planters had direct control over the land.

1. True
2. False

Options :
86435143175. 1
86435143176. 2

Sub-Section Number : 23



Sub-Section Id : 864351707
Question Shuffling Allowed : Yes

Question Number : 99 Question Id : 86435112950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In the early phase of mercantilism, the East India Company increased the export
of Indian manufactured goods.

Reason R: Indian rulers never allowed the Company's factories in India.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct, but R is not correct

4. A is not correct but R is correct

Options :

86435143177. 1
86435143178.2
86435143179.3
86435143180. 4

Question Number : 100 Question Id : 86435112951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Who was the Governor-General who abolished the practice of Sati in British India?

1. Lord Lawrence
2. Lord Bentinck

3. Lord Canning

4. Lord Mayo

Options :

86435143181. 1
86435143182. 2
86435143183.3
86435143184. 4



